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a)   
Form triplet from x-, y-, & z-intercepts ⇒ (a, 3a, a) 
Invert each entry in triplet    ⇒   (1/a, 1/3a, 1/a) 
Multiply triplet by (lcd)a    ⇒   3a (1/a, 1/3a, 1/a) = (3, 1, 3) 
Drop commas to get Miller indices for a)          ⇒  (3  1  3) 

b)   
Form triplet from x-, y-, & z-intercepts ⇒ (4a, 2a, 4a) 
Invert each entry in triplet    ⇒   (1/4a, 1/2a, 1/4a) 
Multiply triplet by (lcd)a    ⇒   4a (1/4a, 1/2a, 1/4a) = (1, 2, 1) 
Drop commas to get Miller indices for b)          ⇒  (1  2  1) 


